LaampPron

Power & force

MﬂﬂiOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mogenb: BC9713

No ApTUKyn HavmeHoBaHue K-Bo Ne ApTUKyn HavmeHoBaHue K-80
1 111010010001 | Pyuxa paBoumx pyKOATOK 2 14| Gp/T5782 BonT M16x140 1
2 111010310005 Pbiyar rasa 1 15 111010170158 Pbiuar nepekntoyeHna nepegay 1
3 111010280009 Bbik/touaTenb 3axuraHuna 1 16 111010110001 duKcaTop yrna noBopoTa PyKOATOK 1
4 120150060005 | LWinanT 1 17 | eB/T93 Llait6a npysmHHan 20 1
5 111010050006 Pblyar BKAtOUeHUA cuenneHns 1 18 111010120002 KpOHLWWITEWH KpenneHus pyKoaToOK 1
6 120150310001 Manew 8x28 1 19 111010140352 CynnopT KpenaeHua KpoHLWTenHa 1
/ 111010070016 | Tpoc cuennexus ! 20 | 111010470040 :’::::;;ﬂg:::’:::::aﬂb'”ara !
8 | 111010680001 | ®ukcarop Tpoca 2 21 | GB/T5789 Bont M6x12 2
9 111010090953 Pa6oumne pyKoaTKM 1 22 GB/T 882 Manew, 5x25 2
10 111010020010 Tpoc rasa 1 23 GB/T91 WnaunHT 1,5%20 2
1 111010260003 KOMyX 3aLLMUTHbIN PYKOATOK 1 24 GB/T16674 Bont M8x25 4
121 Gp/T5789 BonT M6x16 1 25 111060020004 Mpoknaaxa 1
13 111010130015 Pyyka perynnpoBKu BbiCOTbI PYKOATOK 1 26




LaampPron

Power & force

Mogenb: BC9713

MﬂﬂiOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Ne ApTUKYN HaunmeHoBaHwue K-Bo Ne ApTUKYN HanmeHoBaHue K-80
1 111060010034 Kopnyc peaykTtopa 1 24 111060240004 BTynKa Bana BeayLuel 3Be3404KM 1
2 111060120005 Ban BUNKM nepekntoyeHna nepesay 1 25 111060080002 LecTtepHA npuBoaa xona sBnepes, 1
3 GB/T 16674 BonT M6x20 1 26 | 111060320021 | Waii6a 17,1x27x1 1
4 111030130003 Bunka nepekntovyeHna nepegay 1 27 GB/T 276-94 MopwmnnHuk 6203 1
5 120150280004 | CanbHuk 12x22x6 1 28 111060240003 BTY/IKa NOAWMMHNKA 1
6 GB/T 276-94 MoawmnHK 6002 2 29 | 111020710001 KoAbLio ynaoTHUTENbHOR 43,5X2,6 1
7 111060240006 BTynka npomerkyTouHoro Bana 1 30 GB/T 70.1-2000 Bont M6x10 6
8 111020390001 Bepnomas wectepHn BTOpoi nepeaayu 1 31 111060450001 Kpblwka Bana npusoga dpes 2
9 111020570002 Benomas wectepHa nepBoit nepesayu 1 32 120150280023 CanbHuK 25x52x11 1
10 111020230004 MpoMeKyTOuHbIM Ban 1 33 GB/T 893.1-86 Konbuo ctonopHoe 52 1
| GB/T276-94 MoawnnHMK 6202 3 34 | GB/T276-94 MoawnnHMK 6205 1
12 111060240005 BTynka npomerkyTouyHoro Bana 1 35 111060410004 Ban npusopa ¢ppes 1
13 111020710002 Konbuo ynnotHutenoHoe 39x2,6 1 36 111060420001 3Be3404Ka Begoman 1
14 GB/T 16674 Bont M6x12 3 37 804035 MNoawmnnHuk 6005 1
15 111020700001 KpbiwKa pegykTopa 1 38 111201020005 Bont M12x1,5x15 1
16 | 120150280005 | Canbhmk 15x35x7 1 39 | 111060320011 | Waii6a 12x20x2 1




LaampPron

Power & force NnntocTpmpoBaHHbIN KaTanor 3anacHbIX YacTen Mogenb: BC9713
17| GB/T893.1-86 | KonbLo cronopHoe 35 1 40 | 120150280024 CanbHuk 25x41x11 1
18 111020070004 Ban BeayLymit 1 41 GB/T 29 Bont M8x12 1
19 111020670001 LLlectepHA BeayLLero Basa cABOEHHaA 1 42 111201040001 Mpy*xuHa 2
20 111020170002 LLlectepHsa 3agHero xoaa 1 43 GB 308-89 Lapuk $6,35 2
21 111060430001 3Be304Ka BeAyLwaa NpuBoaa Luenu 1 a4 111200400004 3arnywka A 3
22 111060170004 | Llens 567 1 45 111200400005 3arnywka B 1
23 111060440001 Ban Beaywmii npusoga Luenu 1 16 111201050001 Mpobka KOHTPO/IA YPOBHA Macna 1




LaampPron
Power & force

NnnocTpnpoBaHHbIM

KaTanor 3anacHbIX YacTen

Mogenb: BC9713

No ApTUKyn HanmeHoBaHue K-Bo Ne ApTUKyn HavmeHoBaHue K-80
1 GB/T 16674 Bont M10x25 16 6 GB/T 6170 Faitka M10 16
2 111110040005 [unck Hapy»KHaa nonosuHa 4,0-8 2 7 111110010008 Monyock KpenneHus Koneca 2
3 111110030006 MoKpbILWKa ¢ KamepoW 2 8 GB 882 Manev, 8x43 2
4 111110020004 | [ck BHyTpeHHAS nonosuHa 4,0-8 2 9 120150060002 WnAuHT 2
> | eB/T93 Waii6a 10 16 10




LaampPron

Power & force

Ne ApTuUKyn HanmeHoBaHue K-Bo Ne ApTUKYN HaunmeHoBaHwue K-s0
1 111170010092 3aLMUTHBIN KOXKYX PEMHA 1 11 111200800020 KpoHLwTeiH 1
2 GB/T 5287 Wanba 6x22x2 3 12 GB/T 16674 Bont M8x12 2
3 GB/T 16674 Bont M6x12 2 13 111200780001 OrpaHuunTenb pemHs B 1
4 GB/T 16674 Bont M8x25 1 14 111200780002 OrpaHunuuntenb pemns C 1
5 GB/T 5287 Larba 8x28x3 1 15 111200620002 TopcMOHHAA NPyXUHA POAUKA 1
6 111200220013 LLIKMB pemHsa (gBuratenb) 1 16 111200480004 Bo3BpaTHan npyXuHa ponunka 1
7 111200230004 PemeHb 17x963 2 17 111200190005 PonuvK HaTAXeHUA peMHA 1
8 GB/T 16674 Bont M6x12 2 18 111200780003 OrpaHuunTenb pemHs A 1
9 111200780004 OrpaHununtenb pemHa D 1 19 111200210008 LLIKnB pemHs (peayKTop) 1
10 GB/T 16674 Bont M8x16 2 20 GB/T 16674 Bont M8x20 1




LaampPron

Power & force

MﬂﬂiOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mogenb: BC9713

No ApTUKyn HavmeHoBaHue K-Bo Ne ApTUKyn HavmeHoBaHue K-80
1 111150020502 Koxyx ppes npasblii 1 7 GB/T16674 laiika M8 2
2 GB/T 16674 Bont Mx20 8 8 111150010452 KpoHLWTEWH KpenneHus npasoro 1
KOXyXa
3 GB/T 5287 LLlaiba 6x22x2 16 9 GB/T889.1 laika M6 6
4 111200760001 Brynka 16 10 111150010453 MepeaHUn KPOHLWITENH 1
5 111150020501 Koxyx ppes nesbiit 1 11 GB/T 16674 Bont M8x60 1
6 111150010451 KpoHwTenH KpenaeHns nesoro 1 12 GB/T 16674-1996 | Bont M8x95 1

KOXyXa




LaampPron
Power & force

NnnocTpnpoBaHHbIM

KaTanor 3anacHbIX YacTen

Mogenb: BC9713

Ne ApTuKyn HaunmeHoBaHwue K-Bo Ne ApTUKYN HanmeHoBaHue K-80
1 111140050001 COWHUK 1 8 GB/T 5787 Bont M10x25 2
2 GB882 MNanew 8x43 1 9 111200420009 KpoHLWTenH cuenku 1
3 GB/T 6170 laitka M10 2 10 GB/T 16674.2 Bont M10x90 1
4 GB/T 5783 Bont M10x55 2 11 GB/T97.1 LWaiba 3
5 120150060002 WnavHT 3 12 GB/T 93 LLarba npyKuHHas 3
6 111140040005 KpOHLWTEWH KpenneHus cowHmKa 1 13 GB/T6177.1 laitka M10 1
7 111140020004 MNanew, KpenneHua KpoHLTeNHa 1 14

COWHUKa




LaampPron

Power & force

NnnocTpnpoBaHH

bl1 KaTanor 3

e

anacHbIX YacTen

Mogenb: BC9713

Ne ApTUKYN HanmeHoBaHue K-Bo Ne ApTUKYyn HaunmeHoBaHue K-80
1 111200430002 TpaHCNOPTMPOBOYHAA PYKOATKA 1 11 GB/T97.1 LWaiba 10 2
2 GB/T 5787 Bont M8x16 4 12 GB/T 5782 Bont M10x70 2
3 GB/T 93 Lanba 14 2 13 GB/T 6177 laiika M8 1
4 GB/T 16674 Bont M14x60 2 14 GB/T97.1 LWaiiba 8 1
5 GB/T97.1 Lanba 8 4 15 111020690002 YnopHasa wnunbKa 1
6 GB/T 93 LLlaiiba 8 3 16 GB/T 16674 Bont M8x40 4
7 GB/T 6170 lalika M8 4 17 GB/T 6170 laiika M14 2
8 111200050361 Pama 1 18 GB/T97.1 LWatba 14 2
9 GB/T6177.1 laika M10 2 19

10 GB/T 93 LWatiba 10 2 20




LaampPron

Power & force

MﬂﬂiOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mogenb: BC9713

Y %‘”/ 6
1/ i |

Ne ApTuKyn HanmeHoBaHue K-Bo Ne ApTUKYN HaunmeHoBaHwue K-s0
1 | GB/T6170 Faiika M8 26 7 | GB/T5789 Bont M8x45 2
2 | GB/Tos Waii6a 8 26 g | GB/TER2 Maney 8x43 4
3 111100070004 | Nessue dpessl nesoe 12 9 111100020455 Aepsatent BHyTpeHHUX dpes 2
4 111100070005 | Jlessve dpessi npasoe 12 10 | 120150060005 Winamwr 2
5 111100120033 [epKatenb ne3suii HapyKHbix dpes 2 11 GB/T 97 Waii6a 8 2
6 GB/T 5789 BonT M8x25 24 12 | GB/TE170 Faiika M8 2




LaampPron

Power & force

MﬂﬂiOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mogenb: BC9713

Ne ApTUKYN HanmeHoBaHwue K-Bo Ne ApTUKYN HanmeHoBaHue K-80
1 GB/T5789 M6x16 Bont M6x12 4 6 120150260001 Wnunbka M8x35 2
2 110030150151 KpbiLWwKa KnanaHos 1 7 110030170052 [onoBKka uMnmHapa 1
3 110030160151 MpoKnagKa KpbIWKN KNanaHoB 1 8 110030140201 MpoknagKa ronoBku LUANHAPA 1
4 F7TRC Cseuya 3aXkuraHua 1 9 120150020070 LWtndT 10x16 2
5 GB/T5789 M8x60 Bont M8x60 4 10 120150250001 Wnunbka M6x110 2




LaampPron

Power & force MNNocTpMpoBaHHbIN KaTaior 3anacHbIX YacTei Mogenb: BC9713

Ne ApTUKYN HanmeHoBaHwue K-Bo Ne ApTUKYN HanmeHoBaHue K-80
1 110050220204 Kaptep 1 7 GB/T5789 M6x16 Bont M6x16 2
2 110120020201 Ocb perynatopa o6opoToB 1 8 GB/T276 6205/P6 MogwunnHuk 6205 1
3 110120040201 WnanHT 1 9 GB/T16674 M10x15 Bont M10x15 2
4 GB/T976x13x1 LLaiba 6x13x1 1 10 120060140202 LWaitba 10x16x1,5 2
5 110120090202 LieHTpo6exHbii perynatop o6opoTtos 1 11 120160020702 CanbHuWK KoneHsana 25x41,25x6 1
6 110050100101 [aTunk ypoBHA macna B KapTtepe 1 12




LaampPron

Power & force MNNocTpMpoBaHHbIN KaTaior 3anacHbIX YacTei Mogenb: BC9713

No ApTUKyn HavmeHoBaHue K-Bo Ne ApTUKyn HavmeHoBaHue K-80

1 120150020051 WtndT 8x14 2 5 110050180104 KpbiwKa KapTepa 1

2 120090010192 MoawunnHuk KoneHsana 6205 1 6 GB/T5789 M8x32 | Bont M8x32 5

3 110050210101 Mpoknagka KapTepa 1 7 120160020702 CanbHUK KoneHBana 25x41,25x6 1

4 110050090052 KpbiwkKa wyn 1 8 110050130001 KpblwKa macno3annsHom 1
nnnnnnnnnn




LaampPron

Power & force

MﬂﬂPOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mogenb: BC9713

No ApTuRYn HavmeHoBaHue K-Bo Ne ApTuRYn HavmeHoBaHue K-80
1 110060140416 Konensan 1 5 110060070151 | LWatyH 1
2 110060149008 LInoHKa KoneHBana 1 6 110060030201 MNopweHb 70 Mm 1
3 110060060101 Konbuo ctonopHoe nanbua 2 7 110060040201 Konbuo nopwHeBoe 70 MM KOMNIEKT 1
4 110060050101 Manew nopwHsA 1 8

No ApTUKyn HavmeHoBaHue K-Bo Ne ApTURYN HavmeHoBaHue K-80
1 110040170051 Kopombicno knanaHa KOMNAeKT 2 7 110040040151 KnanaH BbinyckHoOM 1
2 110040220002 Hanpasnstowan TonKkatenei knanaHos 1 8 110040010051 Konnayek macnocbemHbiit 1
3 110040210051 TonkaTtenb KNanaHa 2 9 110040090101 MpyKunHa KnanaHa 2
4 110040150151 Tapenka TonkaTena knanaHa 2 10 110040050101 Cyxapb BbIMYCKHOTO K/ianaHa 1
5 110040190003 PacnpegBan 1 11 110040030101 Cyxapb BMYCKHOro KnanaHa 1
6 110040020101 KnanaH BnyckHow 1 12 110040060051 Konnayek KnanaHa nog, KOpomMbICno 1




LaampPron
Power & force

MﬂﬂiOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mogenb: BC9713

Ne ApTUKYN HaunmeHoBaHwue K-Bo Ne ApTUKYN HanmeHoBaHwue K-s0

1 110070090457 CTapTep KOMM/IEKT C KOXKYXOM 1 4 GB/T95 6 LWainba 6 3

2 120020120122 Bont M6x12 5 5 GB/T16674.1 M6x10 Bont M6x10 3
1 6 110070099037 KoKyx maxoBuka 1

3 110070080406 Craprep B cbope




LaampPron
Power & force

MﬂﬂPOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mogenb: BC9713

No ApTuRYn HavmeHoBaHue K-Bo Ne ApTUKyn HavmeHoBaHue K-80
1 110080040101 MarHeTo KomnaekT 1 4 110100120101 Kpbinb4yaTka MaxoBuKa 1

2 GB/T5789 M6x22 Bont M6x22 2 5 110070060101 CTakaH MaxoBMKa 1

3 110080070101 MaxoBuK 1 6 GB/T6177M14x1.5 lalika M14x1,5




LaampPron
Power & force

MﬂﬂiOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mogenb: BC9713

No ApTuRYn HavmeHoBaHue K-Bo Ne ApTuRYn HavmeHoBaHue K-s0
1 110120230202 Pbluar peryaMpoBKku 060poTOB KOMNIEKT 1 5 110120180201 TAra pblyara perynatopa 1
2 GB/T5789 M6x12 | BonT M6x12 2 6 GB/T6177 M6 laiika M6 1
3 110120100301 Mpy»uHa pblyara perynatopa o6opotos 1 7 120020050030 T-06pasHblii 6onT 1
4 110120200201 Mpy*KWHa TATK pblyara perynatopa 1 8 110120130201 Pbiuyar aBTomaTuuyeckoro perynatopa 1

obopoTtos




LaampPron

Power & force NnntocTpmpoBaHHbIN KaTanor 3anacHbIX YacTen Mogenb: BC9713
7
Ne ApTuUKyn HaunmeHoBaHue K-Bo Ne ApTUKYn HaunmeHoBaHwue K-80
1 110090340716 | BaK TONAMBHbIN KOMNIEKT 1 5 GB/T6177 M6 lalika M6 2
2 110090349037 | KpbiwKa TonaMBHOro 6aka KOMNAEKT 1 6 GB/T5789 M6x25 Bont M6x25 1
3 110090349012 | dunbTp ceTyaThbliit baka 1 7 110090230001 XomyT wnaHra 2
4 110090290003 | LUarba 2 8 110090050051 LWnaHr TonaneHbIn L=160 1




LaampPron
Power & force

MﬂﬂiOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mogenb: BC9713

Ne ApTuUKyn HaunmeHoBaHue K-Bo Ne ApTUKYN HaunmeHoBaHwue K-80
1 110010160048 Kopnyc ¢punbTpa KOomnnekr 1 9 110010169110 LWaiba 1
2 110010169403 Kopnyc Bo3gylwHoro ¢punbtpa 1 10 lalika KpenneHus KpbiLKn 1
3 110010169928 WnaHr canyHa 1 11 120010050020 laitka M6 2
4 110010169048 KonbLo ynnotHuTenoHoe 1 12 110010120021 MNpoknagka nog Kopnyc dbunbTpa 1
5 110010169109 Onopa ¢unbTpa 1 13 110090060202 Kap6topaTtop 1
6 110010169049 Mnata dpunbTpa 1 14 110010050031 Mpoknagka nog, Kapbtopatop 1
7 110010169085 dUNbTP BO3AYLUHBIN 1 15 110010040031 Tennounsonatop 1
8 110010169108 Kpbiwka dunbtpa 1 16 110010090031 MpoknagKa nog Tennon3onaTop 1




LaampPron

Power & force

MﬂﬂiOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mogenb: BC9713

Ne ApTuUKyn HanmeHoBaHue K-Bo Ne ApTUKYN HanmeHoBaHwue K-80
1 110020110156 Fnywurenb Komnnekt 1 6 110100010102 MnactuHa 3awmTHanA 1
2 110020119001 OTpakaTenb BbIX/IOMHbIX ra308 1 7 110050170053 MnacTtuHa 3awmTHan 1
3 110020040051 Mpoknagka rnywntena 1 8 110080030001 [laTymK ypoBHA macna (Ha KapTepe) 1
4 GB/T93 8 LWaiiba 8 2 9 GB/T5789 M6x12 | BonTt M6x12 2
5 GB/T6170 M8 laiika M8 2 10




